Contract



Contract No: GEMC-511687795510524

Generated Date: 18-Jul-2022 Bid/RA No: GEM/2022/B/2284554

Organisation Details

Central Autonomous Ministry: Ministry of Education

Department: Department of Higher Education Organisation Name: Indian Institute of Technology (IIT)

Office Zone: Hyderabad **Buyer Details**

Suresh Narayanan Nair Designation: Assistant Registrar Contact No.: 040-23016134-

Email ID: buycon2.iiser.pun@gembuyer.in

GSTIN: 36AAAAI2661J1ZP

Indian Institute of Technology Hyderabad, Academic

Address: Block, Kandi, Sangareddy,

MEDAK, TELANGANA-502285, India

Financial Approval Detail

IFD Concurrence: Designation of Administrative Approval: The Dean Designation of Financial Approval: The Dean **Paying Authority Details**

Payment Mode: Offline Designation: Deputy Registrar Email ID: pao1.iith.ts@gembuyer.in

GSTIN:

Indian Institute of Technology Hyderabad, Academic

Address: Block, Kandi, Sangareddy, MEDAK, TELANGANA-502285, India

Seller Details

GeM Seller ID: F1F8180000094063

PLUS BUSINESS MACHINES LIMITED Company Name:

Contact No.: 02240074000

Email ID: snavndar@plus-india.com

223,Udyog Bhavan,Sonawala Road,Goregaon (East), Address:

Mumbai, MAHARASHTRA-400063, -

MSME verified:

MSME Registration number: MH18D0008224 GSTIN: 27AAACP7987N1ZI

*GST / Tax invoice to be raised in the name of - Consignee

Product Details

#	Item Description	Ordered Quantity	Unit	Unit Price (INR)	Tax Bifurcation (INR)	Price (Inclusive of all Duties and Taxes in INR)
1	Product Name: Mixer Amplifier Brand: Bosch Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3) Model: PLE-1ME120 HSN Code: 85185000	3	No	21,240	NA	63,720
2	Product Name: Projection System Brand: EPSON Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3) Model: EB-982W HSN Code: 85286900	3	No	69,620	NA	208,860
3	Product Name: VGA or AUDIO Cable 1.8 mtrs Brand: Custom Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3) Model: VGA-A-1.8 HSN Code: 85444299	3	No	767	NA	2,301
	Product Name: 4inches Two-way surface speaker Brand: QSC Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM					

4	Selling As: Reseller not verified by OEM	l 12	l No	18,998	I na	227,976
	Category Name & Quadrant :BOQ (Q3)			,		
	Model: AD-S4T HSN Code: 85182100					
	Product Name : Ceiling Mount kit Brand : Custom					
	Brand Type: Unbranded					
5	Catalogue Status : Catalogue not verified by OEM	3	No	3,422	NA	10,266
	Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3)					
	Model: CMK					
	HSN Code: 83025000					
	Product Name : RGB Cable per mtr					
	Brand : Custom					
	Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM					
6	Selling As: Reseller not verified by OEM	45	mtr	342	NA	15,390
	Category Name & Quadrant : BOQ (Q3)					
	Model: RGB HSN Code: 85444299					
	Product Name : 9U Rack with glass door Brand : Custom					
	Brand Type : Unbranded					
7	Catalogue Status: Catalogue not verified by OEM	3	No	14,160	NA	42,480
•	Selling As: Reseller not verified by OEM			2.,200		.2, .00
	Category Name & Quadrant :BOQ (Q3) Model: 9U		Ì			
	HSN Code: 83025000					
	Product Name: 96 inches D Motorised					
	Brand : Custom					
	Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM					
8	Selling As: Reseller not verified by OEM	3	No	24,780	NA	74,340
	Category Name & Quadrant : BOQ (Q3)					
	Model: 96-Mot-R HSN Code: 90106000					
	Product Name : Audio Cable per mtr Brand : Custom					
	Brand Type : Unbranded					
9	Catalogue Status : Catalogue not verified by OEM	75	mtr	88.5	NA	6,637.5
	Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3)					
	Model: Audio					
	HSN Code: 85444299					
	Product Name : HDMI And VGA Facepalte					
	Brand : Custom Brand Type : Unbranded					
10	Catalogue Status: Catalogue not verified by OEM		N-	4.120	212	12 200
10	Selling As: Reseller not verified by OEM	3	No	4,130	NA	12,390
	Category Name & Quadrant :BOQ (Q3) Model: FP-HD-VA					
	HSN Code: 85444299					
	Product Name: WIRELESS VOCAL SYSTEM SVX4					
	Brand : Shure					
	Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM					
11	Selling As: Reseller not verified by OEM	3	No	25,960	NA	77,880
	Category Name & Quadrant :BOQ (Q3)					
	Model: SVX24/PG58 HSN Code: 85181000					
	Product Name: Speaker Cable per mtr Brand: Custom					
	Brand Type : Unbranded					
12	Catalogue Status : Catalogue not verified by OEM	300	mtr	88.5	NA	26,550
	Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3)					
	Model: Spk					
	HSN Code: 85444299					
	Product Name : HDMI Cable - 15 mtrs					
	Brand Type : Upbranded					
	Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM					
13	Selling As: Reseller not verified by OEM	3	No	5,310	NA	15,930
	Category Name & Quadrant :BOQ (Q3)					
	Model: HDMI-15					
ı		1	•	ı	•	1

	HSN Code: 85444299					
14	Product Name: SVX Wireless Lavalier System Brand: Shure Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3) Model: SVX14/CVL HSN Code: 85181000	3	No	25,960	NA	77,880
15	Product Name: HDMI Cable 1.8 mtrs Brand: Custom Brand Type: Unbranded Catalogue Status: Catalogue not verified by OEM Selling As: Reseller not verified by OEM Category Name & Quadrant: BOQ (Q3) Model: HDMI-1.8 HSN Code: 85444299	3	No	2,596	NA	7,788
Tota	Total Order Value (in INR)					870,388.5

Consignee Detail

5.No	Consignee	Item	Lot No.	Quantity	Delivery Start After	Delivery To Be Completed By
	Designation: - Email ID: buycon2.iiser.pun@gembuyer.in Contact: 040-23016134- GSTIN: 36AAAAI2661J1ZP Address: Indian Institute of Technology Hyderabad, Academic Block, Kandi, Sangareddy, MEDAK, TELANGANA-502285, India	Projection System	-	3	18-Jul-2022	17-Aug-2022
		Ceiling Mount kit	-	3	18-Jul-2022	17-Aug-2022
		96 inches D Motorised	-	3	18-Jul-2022	17-Aug-2022
		WIRELESS VOCAL SYSTEM SVX4	-	3	18-Jul-2022	17-Aug-2022
		SVX Wireless Lavalier System	=	3	18-Jul-2022	17-Aug-2022
		Mixer Amplifier	-	3	18-Jul-2022	17-Aug-2022
		4inches Two-way surface speaker	=	12	18-Jul-2022	17-Aug-2022
		9U Rack with glass door	-	3	18-Jul-2022	17-Aug-2022
		HDMI And VGA Facepalte	-	3	18-Jul-2022	17-Aug-2022
		HDMI Cable - 15 mtrs	-	3	18-Jul-2022	17-Aug-2022
		HDMI Cable 1.8 mtrs	-	3	18-Jul-2022	17-Aug-2022
		VGA or AUDIO Cable 1.8 mtrs	=	3	18-Jul-2022	17-Aug-2022
		RGB Cable per mtr	-	45	18-Jul-2022	17-Aug-2022
		Audio Cable per mtr	-	75	18-Jul-2022	17-Aug-2022
		Speaker Cable per mtr	-	300	18-Jul-2022	17-Aug-2022

Specification 1

Specification Document

Buyer BOQ Document

Compliance of BOQ Specification And Supporting Document

Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification 2

Specification Document

Buyer BOQ Document

Compliance of BOQ Specification And Supporting Document Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products. Seller shall be responsible for providing genuine replacement supplies. **Specification 3 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document** Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. **Specification 4 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document** Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification 5

Specification Document

Buyer BOQ Document

Compliance of BOQ Specification And Supporting Document

Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification 6

Specification Document

Buyer BOQ Document

Compliance of BOQ Specification And Supporting Document

Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied

products, Seller shall be responsible for providing genuine replacement supplies.
Specification 7
Specification Document Buyer BOQ Document
Compliance of BOQ Specification And Supporting Document
Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.
Specification 8
Specification Document
Buyer BOQ Document
Compliance of BOQ Specification And Supporting Document
Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.
Constitution 0
Specification 9
Specification Document
Buyer BOQ Document
Compliance of BOQ Specification And Supporting Document
Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.
Specification 10
Specification Document Buyer BOQ Document
Compliance of BOQ Specification And Supporting Document
Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.

Specification 11 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. **Specification 12 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document** Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. **Specification 13 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document** Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies. **Specification 14 Specification Document Buyer BOQ Document Compliance of BOQ Specification And Supporting Document** Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies **Specification 15**

Specification Document
Buyer BOQ Document

Compliance of BOQ Specification And Supporting Document

Note: Seller has given an undertaking that it has made arrangements for getting the stores from an authorized distributor / dealer / channel partner of the OEM of the offered product. At the time of delivery of goods, Seller will provide necessary chain documents (in the form of GST Invoice) to prove that the supplied goods are genuine and are being sourced from an authorized distributor / dealer / channel partner of the OEM. In case of any complaint about genuineness of the supplied products, Seller shall be responsible for providing genuine replacement supplies.
Terms and Conditions
1. General Terms and Conditions-
1.1 This contract is governed by the General Terms and Conditions, conditions stipulated to this Product/Service as provided in the
Marketplace. 1.2 This Contract between the Seller and the Buyer, is for the supply of the Goods and/ or Services, detailed in the schedule above, in accordance
with the General Terms and Conditions (GTC) unless otherwise superseded by Goods / Services specific Special Terms and Conditions (STC) and/ or BID/Reverse Auction Additional Terms and Conditions (ATC), as applicable
2. Buyer Added Bid Specific Terms and Conditions-
2.1 Generic: OPTION CLAUSE: The Purchaser reserves the right to increase or decrease the quantity to be ordered up to 25 percent of bid quantity at the time of placement of contract. The purchaser also reserves the right to increase the ordered quantity by up to 25% of the contracted quantity during the currency of the contract at the contracted rates. Bidders are bound to accept the orders accordingly.
2.2 Buyer Added Bid Specific ATC Buyer Added text based ATC clauses
1. All the specifications, terms and conditions as mentioned in the attached specification document.
2. Payment will be made after supply and installation of the Audio and Video setup in the Classrooms .
Note: This is supposed and the black of the signature is required. Drink out of the description of the signature of the signa
Note: This is system generated file. No signature is required. Print out of this document is not valid for payment/ transaction purpose.